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parter + pietro
pokoi: 3
metraz: 128,21 m2
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Powierzchnia mieszkalna
‘ pow. pow.
‘ ‘ ‘ ‘ uzytkowa [m?] podtogi [m?]
0/1.  Wiatrotap 3,92 3,92
. \ ;777687&77777\777 0/2. Hol 534 7,67
! | ~ | 0/3. Toaleta 1,04 145
D—— 1 0/4. Sﬁ'ecl’(’;" 32,05 32,05
& o } 42,35 m? 45,00 m?
= Powierzchnia garazu
L %} 65,12 m2 67,86 m2
= 0/6. Taras 9,12
| B | 0/7. Ogrédek 148,94
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3 ‘ e uzytkowa [m?]  podtogi [m?]
,,,,, -l 1/1. Korytarz 5,33 5,33
z | 1/2. Pokoj 13,11 13,11
3 1/3. Pokoj 18,05 18,05
W L s B : 1/4. tazienka 9,36 9,36
N - - 115, ggsn;bdarcze 12,65 12,65
| > | 1/6. Garderoba 4,59 4,59
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